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0 a) Draw an arrow to show where each number should be placed on the

b

~

number line.
09 -3 0-87 0-5 175
0 2

Now round each number to the nearest whole number.

0-9 rounds to D to the nearest whole number.
I-3 rounds to D to the nearest whole number.
0-87 rounds to D to the nearest whole number.
0-5 rounds to D to the nearest whole number.

1-75 rounds to D to the nearest whole number.
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Starter Activity

Circle the two numbers which add up to 1.

0.1 0.65 0.99 0.45

Calculate 52.85 + 143.6

Circle two numbers which have a difference of 2

N
-1 05 0 05

0.35

1.5
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Measure each line. Give the answer as an exact decimal, and then
rounded to the nearest centimetre.

One has been done for you.

2-3 cm rounds to 2 cm.

(I Jemrounds o[ Jem
(I Jemrounds o[ Jem
() Jemrounds o[ Jem
(I emrounds o[ Jem
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e Round 5-23 to the nearest tenth.

a) 5-23 rounds to [:] to nearest tenth.

5-2 53

b) Explain how you can round 5-23 to the nearest tenth without drawing
a number line.

Which digit do you need to look at?
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e Complete the table.

Rounded to nearest Rounded to the
whole number nearest tenth

100-037

e Mia has to round 2:76 to one decimal place. She says, ‘The hundredths digit @
is greater than five, so the tenths digit increases by I. The answer is 2:86'. .

How you could explain the mistake to her?





